® 12

3 16

@ 20



2. & ™o gaAEs ABCD oA BC = 12cm, AB = 6cm, DE =
3cm 4 W, AF 9] Zo|E Fsloizt




3.

O TRolA x of 27




4.

th& 2] sABC °|4 BC//DE °]i P
5cm, QC = 15cm € o, DP 9] Zol=?

B 6cm



B
oo
j'L_L

o}
vl
—_
ot

AC =

D = 8cm,
AB 9 Zol&

BURCS -3
S
tlo 1l
e
o =

v
I

cm

Zo] AABC 9 ¥ BC ol A

cm, CD = 5cm ¢ D & % eml \10cm
cm 10cm \\D \C

B

25} o ~~15cm--" 5cm



oS J18oA AD :DB=2:5 4% o, EC
of Zlo]g a7

D 25¢m @ 26cm ® 27cm
@ 28cm 3 29c¢m



2|2} 2t4 ABCDE BF & &

= Ao ste] 3 C7FAD 9
ol J Eo LEE HL Ao
t}. AB = 16cm, ED = 8cm,

DF = 6cm ¥ W, ABCF 9] 4
°o|& 5t =t

cm

v
.
(V]




e A7ty ABC O A BolA AC e Wl 441

7}

a4
9rS Het

ojn

o}

?

o
—

,x+y94 ¥4

SH
=

@ 8.2 B 8.4 @ 8.6 ® 8.8

@D 8



@D 16

® 18

3 20

@ 99

3 23



10. o 2" A A =

90° 2?1 AABC & A& DE

22174 B ¢ 07 QA5 HlS W), AD S @




11. & 2™3 Zo] aAABC °|4 DE//BC € 4|, BD 9] Ao]=?

@ 3cm ® =cm



12. thg 190l4 BC//DE < o, 3x— 2y © 3he?

D7 ® 13 ® 20 @ 27 ® 30



a4 BC//

O
=

13. o

N5
_ @) = I
o™ (&) /\/
< 2
\
m/Dl o
=3 m
© ®




14. 2 a9 1//m//n ol AB:BC=1:2 < o, x+y 9] gk-2?

A/ \
SN &

R\
, ;
n

7 C\

o~

D 13 ® 14 A 15 @ 16 G 17



15. 22 BC // DE 9l 5 A7+ L}ehd 2o
t}. g o] g& Fatedat,




16. th 1”04 AD 9] do]& stolet,

~-16ecm--"D9cm”



17. o5 ™A x 9 gh= Fstofzt

a = cm



18. o= I9H4 BC//DE//FG & ©, x—y 2] k22




19.

g o] A

=
ol
o
rr
o o

7—}% O - ABC 01]/\'1 ADEF %_ E—@';

wo] A= By ul, x+ 4y ) G

1

= BHI} AABC



20. T 1EL HI B 2 AL BE DE?

B ~5cm- E ~5cm-
(1]
B7
@ ADBE 2 AABC © BC//DF
©® EF//AB ® ¢ADF = /ABC
@ AADF ¢ AABC

© 0606 © 0,60 ® 0,60
® ©, e ® O, 0,60



